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(1) <7—5>x(—35):—30+21:—9 (2) 25 x 0.36 + 25 x 0.44 = 20
(3) 72 x 68 = 4900 — 4 = 4896 (4) 0.123 x 102 = 0.123 x (100 + 2) = 12.3 + 0.246 = 12.546
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(1) (22 +22+1)+ (222 - 32 —4) =322 — 2 — 3
(2) (32% + 3wy —y?) — (2 — 2y + 2y%) = 227 + day — 3y°
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(1) V24 = /22 x 6 = 2V6 (2) V25 = V52 =5

(3) v0.0025 = 1/0.0012 x 52 = 0.05 (4) 2\/5\/—3\/6’ =1+ \f
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1) dr —3y =5 T =2 @) 0.2z — 0.3y = 0.7 T =2
x+y="7 y=1 5z 4 0.6y = 9.4 y=—1
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f0)=2x0-3=-3, f(2)=2x2-3=1,
f(2k+3)=202k+3)—3=4k+3, f(f(z))=2(2zx—-3)—3=4z—9
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(1) (a+b)? =a?+ 2ab+ b
(2) (a+0b)(a—0b) =a®— b
(3) (a+b)%a—0b)2 = (a®—b*)%=a' —2a%* + b

(4) (z+1y)3 =23 +32%y + 3zy® +9°
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